[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04

TTT [ TT I ITI T[T I T [T I T T[T T T[T I [ TT I T[T ITIT[roITT
I I I I BRI | I I I

)03 RN (01§ FEEY CEPLY AP SRURPORPORRS e
0.02 { §
0.01 o RS TIRPRRPR e
o C_ by .! ) .......! 1 ......! L
= [ 1 H N
@ 15[ H -
P SN U0 0 0 U R Y P

1072 10 1 10 0?
TP vertr (cr%)

—s=— DQM_mkFit_baseline_lowPT

Effici B — DQM_mkFit:baseIineGiter_IowPT
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

~ 0.05 T T T T T
B ot

o E : . : :
>0.04F e L RN (S S S
> E . B . . .
%) F . . : : :
D.035F -+t i Lo S S
o F . . . :
20.03F bbb L L b S
@ E : : : :
0.025F+---iereeeifl i S
0.02F -++-evbeemeriedfer i (L fe e
0.015fF +++--iereeeeinfle b f
O R | 141 RN S
0,005+ weeeeinf e I e
o edfde i L
g -
r |
| e B L O S,

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~ 0.7
>

a 0.09
£ : ool
O A
£0.07f ool be b
2 : : : : : :

6 -4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


